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Psi at infinity [a.u.]

Shooting method program
#define hbar 1.05459e-34  /* TSV U EHK */
#define m 9.109534e-31 /* AEPDEFDEE */
#define e_0 1.60218%¢-19 /* BERZEE */
main()
{ S >
float  dE=le-3*e_0; /¥ TRIVF—DIES; dE*/
float  dx=le-10; /*ERDHFRES; dx*/
float E; /* the energy E */
float psi@,psil,psi2; /* psi(x-dx), psi(x), and psi(x+dx) */
float x; /* JEE*/
for(E=0;E<e_0;E+=dE)  /*IRILF—ZohSLElLEEB*/
{
psi0=0;psil=1; /* R ENRREL D ¥ HA(E*/
for(z=dx;x<100e-10; x+=dx) /RN EZEIL TS ; YIHREX=0+dx*/
{
psi2=C2*m*(dx/hbar)*(dx/hbar)*
(e_0*(x/100e-10)*(x/100e-10)-E)+2)*psil-psi@; /*Shootingikx TPsi2& KB */
psi@=psil; /*EEEED T by */
psil=psiZ;
}
printf("E=%fmeV psi(infty)=%f¥n",E/(le-3*e_0),psi2); /*ERDH ImevVEfI*/
}
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Energy s.t. psi@infinity=0 [meV] : 58.5,136.5,214.5,292.5, 369.5,447.5,524.5,602.5, 679.5,756.5
E_n/(n-1/2) [meV]: 39.0, 39.0, 39.0, 39.0, 389, 389, 389, 389, 388, 388
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#include <stdio.h>
#include <math.h>

main()
{

double
double
double
double
double
double
double

psi_at_inf();
dE=5.0e-6;
dummy ;

E;

E ev;

E soln;
Y1l,Y2;

Yl=psi at inf(-0.7,0);

for(E=-0.7+dE;E<0.0;E+=dE)

{

Y2=psi_at_inf(E,0);
if (Y1*Y2<0.0)

{

E soln=fabs(Y1l)*dE/(fabs(Y1l)+fabs(Y2))+E-dE;

E eV=E_soln*27.2116;
printf("E=%fev\n",E _eV);

dummy=psi_at inf(E,1);

}
Y1=Y2;

}
}

/* BEBDER */

double

psi at inf(E,flag)

double

int

{
double
double
double
double
double

E;
flag;

V();
dr=0.0050;
psiO,psil,psi2;
r;

m eff;

m eff=1.0;

psiO=1.

0;psil=1.0;

/* r=o COERFRDKENEEDIE psi(x,E)
/* IRILF—DIED

/* dummy

/* the energy E in Hartree

/* the energy E in eV

/* the solutions for the energy E

/* psi(w,El), psi(x,E2)

/* TRILF—OPERE (S DHEIF-0.7 Hartree) TORENRIROEZ FHE +/

/* calculate next value

/* Y1*Y2DBICHRD— psi(»,E) DN OE#ET >z */

/* Hartree[RFEAI—eVEL

/* print out wave function

/* end main */

/% r=c TOEIEAFDKEBIMDE psi(o,E)Z2FEIT DIL—F > */

/* the energy E
/* TREIREEENFD T v o flag=174 5 print out

/* IRT> v )LEBEL

/* shooting/EICHITBrDES ; Or

/* psi(z-dz), psi(z), and psi(z+dz)
/* r

I+ EWEE (m &80

/> BWEE (COBRIFEZFDEFZEE)

/* shootingi ; (UMD 2 ROAIHAE */

if(flag)printf£("0.000000 %f\n",psiO); /* first point */

for(r=dr;r<30.0;r+=dr) /* rOMlFr=0r . r=30 a.u. (c.a.16 &) FTRAFr> */

{

if(flag)printf("%e %f\n",r,psil);

/* print wf */

psi2=(r*(2.0*m eff*dr*dr*(V(r)-E)+2.0)*psil+(-r+dr)*psi0)/

(r+dr);

psiO=psil;
psil=psi2;

}

return(psi2);

}
double
V(r)

double
{

r;

return(-1.0/r);

}

/* SERZEZT N

/* psi(w,E)DEZ XAV I)L—FVIGRT */

/* IKTY v LBEOER (COEREEEI N ERDIRIINSRT > v JLICERARTE

/% KFBRFORTYIVvIL (O—OVE|IARTYIvIL) */

*/
*/
*/
*/
*/
*/
*/

/* TRILF—FERI—TORE  E=0FTRAT vy */

*/

/* psi(w,E)=0&/RBITRILF—  YTIEY2DERFEY %/
*/

*/

*/
*/

*/
*/
*/
*/
*/

*/

/* shootingiZDF)ILTY XL =/

=]
B *

/
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Bohr theory E1s=-13.606 eV
E2s= -3.402 eV
E3s= -1.512 eV
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RIREF Ry bORBIRE

GaAsDBEZNEE (BEF)=0.067 x m,
LEFDINYRAT7EYR=167 meV

—>» EFRFYFORETIE V=-0.167 eV
EFRFYrOMATE V= 0.0 eV

BFRYRD¥EE=12.0 nm = 226.8 a.u. (atomic unit)

TOTZALIERT YO vILEnEESRZ NIER L

double
V(r)
double r; /* spatial coordinate */
{
if(r<226.8) /* 226.8 a.u. = 12 nm ; radius of QD */

return(-0.167/27.2116);
else
return 0.0;

dE=1.0x10¢Hartree

dr=0.05 atomic unit

m_eff=0.067 m,
IXRILF—OYHEAE=-0.167/27.2116 Hartree

SIRER : REKEEZ2\
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